BRIEEDFBR
SHE1-4 10X TOVEEA l‘-’ hakken

SR UOEEAELELES,

1 3— 2= (1) 6 —4 =
2 5—2= 12) 3 — 2=
@B 7—6= 13) & — 3=
4 4—2= (149 6 — 0=
G 2—1= 15 4 — 3 =
6 6—3= 16) 7 — 4 =
7 7—5= 17 5 — 4=
8 b5 —4= (18) 7 — 3 =
9 7—4= (199 6 — o =

(100 6 —4 = 200 4 — 1=
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P2 [5tE1-4 10FTOUVEZA) hakken.

SR UOEXAZLELLES,

1 7T—1= (11) 7 — 3=
2 o5—2= (12) 6 — 5 =
@3 oO—1= 13) 4 — 1=
4 06 —4= (14) 7 — 2 =
6) 4—2= (15) 6 — 3 =
6 7 —4= (16) 4 — 3 =
() o5 —4 = 17 7 — o =
® 6—2= (18) 3 — 2 =
9 2—1= 190 3 — 1=

(10) b — 3 = (200 6 — 1 =
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P3 [5tE1-4 10FTOUVEZA) hakken.

SR UOEXAZLELLES,

(1) 8 —5= (11) 8 — 3 =
2 6—4= 12) 7 — 1=
B 8—7= (13) 6 — 3=
4 4—2= (14 8 — 1=
BG) 7T—2= (15) 6 — 2 =
6 8—2= (16) 7— 4=
(n 5—3= 17 4 — 3=
® 7T—3= (18 7 — o=
9 6—1= 19) b — 2=

(10) 8 — 4 = (200 8 — 6 =
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P4 [5tH1-4 10ETOVEEA) hakken.

SR UOEXAZLELLES,

1 4—2= 11) 7 —3 =
2 8—3= (12) o — 2=
B3 7—>0= (13) 8 —4 =
4 8—>0= (14) 6 — O =
BG) T—4= (15) 8 — 6 =
6) 06— 2= (16) 7 — 2=
(n 8—1= 17 o— 1=
® O—3= (18) 6 —4 =
9 6—3= 19) 8 — 2=

(10) 8 — 7 = (200 7 — 6 =
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P5 [5tE1-4 10FTOUVEEA) hakken.

SR UOEXAZELELLES,

1 9—7= (11) 9 — 3 =
2 8—2= 12) 9 —6 =
B3 7—>0= 13) 8 — 3 =
4 9—1= (14) 9 — 5 =
B) 88— o= (15) 6 —4 =
6 9—0= (16) 9 — 6 =
(n 7—4= 17 8 —4 =
® 9—4= (18) 7 — 2 =
9 8—6= 19) 9 — 2=

(10) 9 — 8 = (200 7 — 3 =
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P6 [5tE1-4 10FTOUVEZA) hakken.

W UEEAELELES,
1 9—5o= (1) 8 — 2=
2 8—3= (12) 9 — 1=
3 9—3= 13) 7 —0o=
4 7—4= (14) 9 — 0 =
B 9—2= (15) 8 — o =
6) 88— 4= (16) 9 —8 =
7 9—6= 17 9 — 6=
8 6— 2= (18) 7 — 3 =
9 9—-7= (19) 8 — b6 =

(10) 7 — 2 = (200 9 — 4 =
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P7 [5tE1-4 10FTOUVEEA) hakken.

SHUOEXAZLELLES,

1 9—3= (11) 8 — 5 =
2 6— 3= 12) 9 — 4 =
B 8—2= 13) 8 —6 =
49 9—5= (140 9 — 6 =
B) 7—>0= 15) 8 — 3 =
6 8—4= (16) 9 — 2 =
(n 9—1= a7n 7 —4=
® 9—8= (18) 9 — 5 =
9 7T—3= 19) 7 — 2 =

(10) 9 — 06 = (200 9 — 7 =
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P8 [5tE1-4 10FTOVEZA) hakken.

SHUOEXAZELELLES,

1 7T—4= (11) 10— 6 =
2 10— 2= 12) 9 —7 =
3 06— 2= (13) 10— &8 =
4 10— 7 = (14) 9 — o=
5) 10— 9= (15) 10— 4 =
6 10— 3= (16) 9 — 6 =
(n 9—4= (17) 10— o =
® 10— 1 = (18) 9 — 3 =
9 9—2= (19) 10— 6 =

(10) 10— 5 = (200 8 — 2 =

Copyright (C) 2009 hakken.inc All Rights Reserved.



P9 [5tE1-4 10FTOVEZA) hakken.

SR UOEXAZLELLES,

1 10— 2= (11) 6 —4 =
2 99— 7= (12) 10— 6 =
3 10—4 = (13) 10— 7 =
4 9—6= (149 9 — o5 =
B) 10— 6 = (15) 10— 8 =
6 9—4= (16) 10— 5 =
(7 10— 3= 1 9 — 2=
® 9—3= 18) 8 —4 =
9 10— 1 = (19) 10— 5 =

(10) 10— 9 = (200 7 — 3 =
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P10 [E{E1-4 10X TOVEZA] hakken.

SHUOEXAZLELLES,

(1) 8—3= (11) 9 — 8 =
2 10— 6 = (12) 10— 2 =
B 9—7= (13) 9 —0b =
4 10— 7 = (14) 9 —4 =
BG) 9—50= (15) 10— 3 =
6 10— 5= (16) 10— 9 =
(M 9—3= 17 10— 4 =
8 10— 8 = 18) 7 — 2=
9 10— 5= (19) 10— 6 =

(10) 9 — 2 = 200 10— 1 =

Copyright (C) 2009 hakken.inc All Rights Reserved.



P11 [5t81-4 10ETOUVEEA] hakken.

R DEEAELELLES,

1 7—1= 11) 7 — 3=
2 S5 —2= (12) 6 — 5 =
B oO—1= 13) 4 — 1=
4 06—4= (14) 7 — 2 =
6) 4—2= (15) 6 — 3 =
6 7T —4= (16) 4 — 3 =
(N o —4 = 17 7 — 5=
® 6—2= (18) 3 — 2 =
9 2—1= 19 3 — 1=

(10) b —3 = (200 6 — 1 =

Copyright (C) 2009 hakken.inc All Rights Reserved.



P12 [E{E1-4 10X TOVEZA] hakken.

SR UOEXAZLELLES,

1 6—3= 1) 3—1=
2 2—1= 12) 9 — o =
3 10— 2= 13) o — 2=
4 8—5= (14 9 —3 =
BG) 7T—06= (15) 10— 6 =
6 88— 3= (16) 7 — 2 =
(n o5 —4= (17 8 — 6 =
® 7T —4= (18) 4 — 3=
9 6 —0o= 19 7 —1=

(10) 9 —7 = 200 8 — 7 =

Copyright (C) 2009 hakken.inc All Rights Reserved.



P13 [E{E1-4 10X TOVEZA] hakken.

SR UOEXAZLELLES,

1) 9—8= 11) 3 — 2=
2 7—3= 12) 4 — 2=
3 10— 7 = 13) 9 —4 =
4 2—1= (14) 7 —4 =
Gy 9—7= (15) 8 — 7 =
6 oO— 2= (16) 10— 3 =
() 8 —4= 17 9 —6 =
® 10— 9= (18) 6 — 4 =
9 6—3= 190 o — 1=

(10) 8 — 2 = (200 6 — b =

Copyright (C) 2009 hakken.inc All Rights Reserved.



P14 [5t81-4 10ETOUVEEA] hakken.

SR UOEXAZLELLES,

1 99— 0= (11) 10— 2 =
2 6—1= 12) 8 — 1 =
3 10— 4= 13) 4 — 2=
4 5—3= (149 6 — 1=
G 4—1= 15) 10— 8 =
6 7—2= (16) 9 —4 =
(M 9—1= 177 8 — o=
® 7T—0= 18) 6 —4 =
9 9—2= 19) 9 — 1=

(10) 5 —4 = 200 3 — 1 =

Copyright (C) 2009 hakken.inc All Rights Reserved.



